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1500m 3F | ® 20 22 |#K HAIE |22 F 7AN ZHAEF 3 1 8
1500m 3F | & 41 37 = FE O F OFRY (TR 3 1 9
1500m 3 | % 91 31 /AR DvER (A Ry A [ 31| 10
1500m 3F | & 98 19 (ZEB EM |45 MV 3 1| 11
1500m 3 | & 39 54 [hE %8B |+h4 13 Al 3 1| 12
1500m 3% | X 217 10 |28 EZE ¥/ 3% s 3 1 13
1500m 3% | X 216 12 (@B #&K (914 14 RAEAF 3 1 14
1500m 3F | & 226 6 B9 =E=E |Hvby 143 FliE 3 1 | 15
1500m 3 | & 30 1 [EE #EFE (7N W | KK 3 1 | 16
1500m 3FE | & 22 2 |Bx L3 {7Hh° 13 PR S 3 1 5
1500m 3F | & 167 10 (K #kE  |WEF 1S P} 31| 4
1500m 3 | & 143 26 |78 BABEZE [zV 7Ah Ak 3 1 3
1500m 3FE | & 85 1 | B B $4 TH4 18R 3 1 2
1500m 3F | & 121 46 781 B[z THA & [E 3 1 1
1500m 3FE | & 95 20 ([EFE #IE |45 I9h PARAE 3 1| 17
1500m 3FE | & 63 11 |F/%FTF K= Y4 #h3 # 4 [8 3 1 | 18
1500m 3FE | & 91 36 A EF |74t tf | 3 1 | 19
1500m 3FE | & 216 14 3EE &E4H [vhz hAs AfEh 3 1 | 20
1500m 3 | & 217 6 |FBF EF [9/ Y3 il 3 1| 21
1500m 3 | & 108 22 | & ETH (42 1%/ YR R 3 1 | 22
1500m 3 | & 16 35 |dakt  IRIEER |thh W7 EEHtZ T 3 1 | 23
1500m 3 | & 143 66 |8 BR{EE [z T7HY Ak 3 1 | 24
1500m 3F | & 143 27 1R SEE |RY: AR # mk 3 1 | 25
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100mMH(76.2cm_8.0m % 13 - 32 |FW &FF vy 7YY —% 1 1
100mMH(76.2cm_8.0m S 15 - 48 |AE EE |kt By 5t 1 2
100mMH(76.2cm_8.0m 7 222 - 34 |[EHE BE kot vt DY 1 3
100mMH(76.2cm_8.0m 7 85 - 10 |l EEF |YA#7 Va3 2 1 4
100mMH(76.2cm_8.0m = 2567 oH B |2V T TEBTFC 2 1 5
100mMH(76.2cm_8.0m % 40 - 5 [IUA HA YvEh 127 ¥ =5 2| 1] 6
100mMH(76.2cm_8.0m % 215 - 35 [HAE D +if 133 A 3 1 7
100mMH(76.2cm_8.0m % 210 - 16 |[SKA EJY |H9F 8/ 7/ 2 1 8
100mMH(76.2cm_8.0m 7 79 - 20 [EE HERZ 74N H4F [N 2 1 9
100mMH(76.2cm_8.0m B8 216 - 24 |lLO & Y F 74 PN 2 2 1
100mMH(76.2cm_8.0m % 33 - 3 (thEy EZE |+5/ Y% t4& 2 | 2| 2
100mMH(76.2cm_8.0m % 101 - 3 [RE X£BH (v 7 7 fs 1L 3 2 3
100mMH(76.2cm_8.0m S 121 - 53 (AU #EE (29 1Y 2 3 2 4
100mMH(76.2cm_8.0m = 71 - 21 (chH FEZF |4 w/h AN 2 2 5
100mMH(76.2cm_8.0m % 214 - 10 [ BE 247 1)y BB 2 2 6
100mMH(76.2cm_8.0m % 25 - 9 |gTE 7N{E  |¥I4 Ovh MR 2 2 7
100mMH(76.2cm_8.0m % 85 - 46 |[AF FjF |4t V3 1R 2 | 8
100mMH(76.2cm_8.0m T 70 - 12 |k KE TN AR [RrE 2 | 2] 9
100mMH(76.2cm_8.0m =8 8 - Fh8 = Th) A3b AR ER, 2 3 1
100mMH(76.2cm_8.0m Foe 143 - 7 |B¥ PKE |4y Mt k% 2 | 3] 2
100mMH(76.2cm_8.0m 7 71 - BEH %% |n3% Ax % FHRAEE 1 3 3
100mMH(76.2cm_8.0m = 106 - 5 [F& P [ZYAT 9HT e 2 3 4
100mMH(76.2cm_8.0m S 113 - 20 (chpg 22 Thty b ARE 2 3 5
100mMH(76.2cm_8.0m = 90 - 23 |K%E FBEZE |8 Y L{F )11 2 3 6
100mMH(76.2cm_8.0m 7 25 - 9 |AIEA JN{E |¥IF Avh NES 2 3 7
100mMH(76.2cm_8.0m % 211 - 65 |Wi[R RAE |h4n7 MER ERE= 2| 3| 8
100mMH(76.2cm_8.0m = 103 - 4 [RO#EF |THZY ¥I3 HFa 2 3 9
100mMH(76.2cm_8.0m =8 70 - 15 [FAZR 1@ Thy hIT M4 B 2 4 1
100mMH(76.2cm_8.0m @ 222 - 31 |JIIB /NBS O (A9RY 2w PN 2 4 2
100mMH(76.2cm_8.0m = 226 - 15 |FHE ¥ 98T TR) IS 2 4 3
100mMH(76.2cm_8.0m = 93 - 11 (A [BMA E+4 tt4 M558 3 4 4
100mMH(76.2cm_8.0m =8 90 - 1 ;A #B#T  |4FY 7Yt 11| 3 4 5
100mMH(76.2cm_8.0m = 30 - 27 (=8 fEFE]F |37 1Y3 BN 2 4 6
100mMH(76.2cm_8.0m o8 213 - 20 | HHY [98 7Y BE 2 4 7
100mMH(76.2cm_8.0m % 1 - 24| /B E&HF |n 37y 075N 2 | 4| 8
100mMH(76.2cm_8.0m S 227 - 12 |¥Azk #0F0 |wrh 9 AEEZ 2 4 9
100mMH(76.2cm_8.0m % 37 - 61 |FRE INE {11 3ty & 1 5 1
100mMH(76.2cm_8.0m = 105 - 32 | kA #HF |91Zy 193 Fia 2 5 2
100mMH(76.2cm_8.0m % 115 - 24 [NFB FARIE |32y /0 CES 3 5 3
100mMH(76.2cm_8.0m = 13 - 33 |8 #/&F 4-Fb 19t —% 2 5 4
100mMH(76.2cm_8.0m = 220 - 36 |F{E EH [TV 34 Es 3 5 5
100mMH(76.2cm_8.0m = 209 - 10 |HIR EERR  [4V4 TAT AL 3 5 6
100mMH(76.2cm_8.0m % 73 - 21 |&gRE 2 (3440 TE T BT 3 5 7
100mMH(76.2cm_8.0m %@ 8% - 63 |t HDO=|MNA{ vt 18R 5 8
100mMH(76.2cm_8.0m 7 2575 EAE BIE  |7TAY UUB FHRTFC 1 5 9
100mMH(76.2cm_8.0m % 2655 AL DB [3TVY O REBTFC 1 6 2
100mMH (76.2cm_8.0m 7 65 - 1 ML BEE (417 (EES 2 | 6 | 3
100mMH(76.2cm_8.0m @ 70 - 20 [JIl.E FofE A983 9% N4 & 2 6 4
100mMH(76.2cm_8.0m Fes 30 - 16 (/NI R |AhT T #3 PN 1 6 | 5
100mMH(76.2cm_8.0m = 101 - 12 |FgH W |{F4% 11 5L 2 6 6
100mMH(76.2cm_8.0m % 15 - 6 |[pEH W (V401 [AE 1|6 | 7
100mMH(76.2cm_8.0m % 121 - 10 (#EEF #AF [9I/ 793 B 1 6 8
100mMH(76.2cm_8.0m % 209 - 22 (/MBS Y (377 1YY ABL 2 6 9
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100mMH(76.2cm_8.0m) | 358 | % 101 - 22 (ch#dt WRF  [FHLT &/ Bl 1 7 2
100mMH(76.2cm_8.0m) | th& [ % 121 - 9 |[thI® D [4Fn5 13 & 1 7 3
100mMH(76.2cm_8.0m) | #i@ | % 203 - 2 |BRA BYE  |hath 197 ENTE 2 7 4
100mMH(76.2cm_8.0m) | #@ | % 56 - 47 [3RE BN |[7¥F bk Y 2 7 5
100mMH(76.2cm_8.0m) | #i@ | % 142 - 9 |[BK ZFER\ 5T+ 13 He 1 7 6
100mMH(76.2cm_8.0m) | & | % 88 - 1 |dk& EME  [$547 A& 2 |77
100mMH(76.2cm_8.0m) | #& | % 70 - 19 ({EE HF 914" 13 R & 2 7 8
100mMH(76.2cm_8.0m) | #i@ | % 101 - 26 (EEHh Z=Z0 |93y 3IVh 1L 1 7 9
100mMH(76.2cm_8.0m) | #38 | % 203 - 16 |[HAHE % 198  7hY BlLE— 1 8 2
100mMH(76.2cm_8.0m) | & | % 237 - 9 BB} S (1) 32 EBHE 1 8 3
100mMH(76.2cm_8.0m) | &38| % 8 - 9 |KE #F (¥4 vana iy 2 8 4
100mMH(76.2cm_8.0m) | #& [ % 187 - 2 |E@E Y& 914" Y} =Ef} 1 8 5
100mMH(76.2cm_8.0m) | #3& | % 1 - 2 |AB L5 |9 #93 Il 2 8 6
100mMH(76.2cm_8.0m) | #£i& | % 187 - 5 |H&E M2 |41h 32 =F 1 8 7
100mMH(76.2cm_8.0m) | #& [ % 101 - 20 [HE @mR3E |[4/91 #%+ sl 1 8 8
100mMH(76.2cm_8.0m) | #5&8 | % 105 - 6 &=l &= 9k I 1f FA 1 8 9
100mMH(76.2cm_8.0m) | #£5& | % 213 - 6 |lu@ Btk (Y F M PN 1| 9] 2
100mMH(76.2cm_8.0m) | #£3@ | % 56 - 74 [T fEF [ThI B3 LR 1 9 3
100mMH(76.2cm_8.0m) | #i@ | % 43 - 42 |BFR MWK A% A4 (= 1 9 4
100mMH(76.2cm_8.0m) | 3@ | % 28 - 33T FTEE |8 hbY T= 1 9 5
100mMH(76.2cm_8.0m) | #£3@ | % 56 - 84 |&FZHE WA |[YAF 1V i 1 9 6
100mMH(76.2cm_8.0m) | #i@ | % 160 - 13 |[HE m {/91 A% KT 1 9 7
100mMH(76.2cm_8.0m) | #@ | % 56 - 44 |[REF 1D N/ 133 L 2 9 8
100mMH(76.2cm_8.0m) | #t3@ | % 64 - 75 [ &K |70 M g I 1 9 9
100mMH(76.2cm_8.0m) | @ | % 56 - 68 |RE Iy |YF AR/ A 1 0 | 2
100mMH(76.2cm_8.0m) | @ | % 93 - 2 |/ngE EEH (Hb) 134 M558 1 10 | 3
100mMH(76.2cm_8.0m) | #58 | % 88 - 49 [/FK EE [N ¥ 319 KE 1 | 10| 4
100mMH(76.2cm_8.0m) | #58 | % 64 - 72 |#FHE &I (¥4 1t g I 1 |10] 5
100mMH(76.2cm_8.0m) | #£3@ | % 88 - 52 [lUIKF EgH  |vvHE 3% P 1 | 10| 6
100mMH(76.2cm_8.0m) | #58 | % 56 - 70 [ERE O IZDD |75 F/8 i 1|10 7
100mMH(76.2cm_8.0m) | #58 | % 213 - 22 [ZEMR FOER DN Ty FNA 2 | 10| 8
100mMH(76.2cm_8.0m) | @ | % 225 - 4 |&EE O FEKXK O|3F) M ks 1 0 | 9
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27 | 1 14 |AEK ER 233 30 Al 3 1 4

Z || 1 17 |&dh B Y2+h ¥4 Pl 3 1 4

Z || 1 21 |Es B afh Y3 ) 2 1 4

Z || 1 36 |BER IF0E 7Y Li /0 i 1 1 4

4%x100m 7 |mEBEE 71 21 | BeE +h4 /% FEB S EEH 2 1 5
% |EEpE 71 22 |EH =z VY R EEF 2 1 5

| REBEE 71 23 |#T B /1 14 REBEEE S 2 1 5

| REBEE 71 24 |EEMTF BE Youy AN REBEEE 2 1 5

| REBEE 71 7 |FER ZEHR hag Eh REBEEE A 1 1 5

| REBEE 71 8 |ZH 38 Y24 ef REBEEE S 1 1 5

4%x100m HE| & [AME 213 25 |HBO 4 b5 7 +h [l 2 1 6
7 |BhE 213 22 |ZEM AN 9908 FY [l 2 1 6

el EicV =y 213 20 [+ HHrY gr o ThY [l 2 1 6

7 |BhE 213 5 |¥HF HE 2 Y3 FAIA 1 1 6

7 |BhE 213 6 b0 K Y F M FANE 1 1 6

7 |BhE 213 FAIA 1 6

4x100m HE| & (% 65 1 /i BE AT vk uiES 2 1 7
kgl |woES 65 2 |BEL = Ity i PPES 2 1 7
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kgl |woES 65 1 7

peql|woES 65 1 7

4%x100m HE| & |LEH 223 1 |#E BB 978 955 [REF 2 1 8
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%z L% 223 3 |l 32 YeiE T LB 2 1 8

%7 |IREF 223 4 |FKL e Ehyv 22 R h 1 1 8

. |ILEF 223 1 8

. |ILEF 223 1 8
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7 | kR 10 2 @ tiE 97 143 = 2 1 9

7 | kR 10 6 |HiE KA +hh' 9 A IS 1 1 9
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FA33% (2.721kg) HE| % 85 9 =l /N [3YH + af3 18R 3 A 7
Fa NI (2.721kg) HE| X 211 60 | AR —1E |74% 178 REFE= 2 A 8
Rt (2.721kg) HE| % 35 52 5T IHFE O|IH°F 32k N&& 2 A 9
A (2.721kg) EEIEES 139 3 (@K #AF  [ZVh3 W [EEf 2 | A | 10
Fehak (2.721kg) HE| & 33 7 | Rk Ahth 43t RS 1 Al 11
Fehak (2.721kg) ES 73 47 BBk BEE [HhLT VEY FEFR 2 Al 12
A% (2.721kg) HE| % 108 3 |BHE EER |4 ) iCEs 2 | A | 13
Fa AL (2.721kg) HE| % 8 1 AR BF [k I AEET 3 Al 14
% (2.721kg) H@| & 100 U |TER BB |z #i3 AL 1 Al 15
A% (2.721kg) HE| % 35 65 |ZH VO VA1 trh & 1| A 16
R 0% (2.721kg) P X 121 17 |8 ¥ |/Y v 137 B 1 A | 17
F % (2.721kg) HE| & 91 7 |ZAHE FEE (R OFY Nl 1 | A | 18
PR (2.721kg) @l % 101 19 | HR Ei2 3% ¥ e 2 | A | 19
A% (2.721kg) HB| % 216 6 |=iR B |3vHD 19h KEH 1 Al 20
FaALIR(2.721kg) HB| % 220 BT ZBZLE [ L) FF 1 Al 21
Fehak (2.721kg) HE| & 1 28 |EAR Ek IVEM Y4 Il 2 A | 22
Tt % (2.721kg) H@| & 85 68 |mH ZEFE |M{ 7 1R A A | 23
Fa% (2.721kg) HE| % 113 5 |#EE EE |Zy7% Yuh A 1 [ A 24
A% (2.721kg) HE| X 143 6 |EAR IR FYEM 4% [l 2 A | 25
Falh#% (2.721kg) HE| % 13 36 |l fE= T E /Y —% 2 | A 26
R (2.721ke) HiE | & 113 3 |[—YR WE [EhY H/Y A 1 | A | 27
Feh#k (2.721kg) HE| & 203 7 |EH EE (VY 739 BEZ 1 A | 28
Fah 1% (2.721kg) Foe 205 4 4Ll ERAE (3507 $t EfE%E 1 [ A 29
Fa% (2.721kg) SE S 208 59 (/N OBRFE] (AN 5 THY RiEeh 1 A | 30
F % (2.721kg) HE| & 220 17 |[REJI &8 [veh 0 a4t Eis 1| A3
A (2.721kg) il S 208 - 52 |"H¥E EF [Iww T3 A 1 | A | 32
Fah1%(2.721kg) HE| % 211 EEIER ¥h' 0 1y |(EEE= 1 [ A 33
Fa % (2.721kg) HE| % 85 62 [H{X =HF |40 U1 R A | 34
FA3L3% (2.721kg) HdE| % 87 20 |[R¥FT ZFE  |#AT Fin 52 2 A | 35
Pl (2.721kg) HE| % 15 17 | {23 [Fhf EbS R 2 | A 36
FaR & (2.721kg) I 26 21 [ 9RZE W73 LiF  [E/ 1| A | 37
Fehak (2.721kg) HE| & 35 60 & FHF [{vTh T4+ NS 1 A | 38
N (2.721kg) HE| & 43 12 [#MABERE |18 4T B2 2 | A | 39
Rt (2.721kg) HE| % 44 9 [#E MmE |7V it Sld 2 A | 40
AL (2.721kg) #E| % 56 83 |BA FiFEHR [ZVLT Ui ! 1 | A | 41
A% (2.721kg) = 71 10 A #KE (1Y T RN EER 1 A | 42
A% (2.721kg) =8 73 26 iEHF #HF | 197 AR 1 A | 43
Rt (2.721kg) HE| % 85 51 |8 FE Y¥ KN 1R A | 44
Fa A% (2.721kg) HlB| % 106 45 |5 ke |Vh T e 3 A | 45
Fa A% (2.721kg) HE| % 87 17 |58 HF [19ZY D 52 2 A | 46
RN (2.721kg) HB| % 220 18 |y BZE |4z 1t FH 1 A | 47
Falh#% (2.721kg) HE| % 225 21 | KBT BE 1137 )3 St 2 | A | 48
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i H 44 B e e K41 BNEES AR V=y
F#4% (1.000kg) % 234 - 1 [P BE |27 i AEE T 3 1
FI82# (1.000kg) 7 71 17 |[@Em =L |97 743 FESER 3 2
FI434%(1.000kg) HE| % 227 11 @8 FBE ({55 F4+ REHEZ 2 3
FI##(1.000kg) A ES 22 9 [IUAX FB5 |vvEb B 7 R 3 4
F3#2#%(1.000kg) HE| % 1 20 [#RIE BBIE (149105 nbh )l 2 5
M85 4%(1.000kg) HlB| % 24 12 |k FEFR |H4=y &9 HR R 2 6
F3#2#%(1.000kg) s 30 10 |BFE B |§ vang )y KiR 2 7
8272 (1.000kg) HiE | & 143 9 |EF ZTHE  |1)L7 Fh Ak 2 8
F#4% (1.000kg) HE| % 26 6 nE y) 9t 7./ F 2 9
FI 4% (1.000kg) % 71 26 |BE® fEZR |99 by RE N EED 2 10
F3854%(1.000kg) hE | & 139 4 IEE K 74N 14 e 2 11
M85 4%(1.000kg) HlB| % 160 14 (HE BE |{/9T L3 KT 1 12
F3844%(1.000kg) #E| % 63 21 [P /MBE YEYY I # 4 A 2 13
I #4% (1.000kg) HE| % 64 35 [HEAR BEHE  |4Eb BI e i 2 14
F#4% (1.000kg) H@| & 143 3 a8 O&E [Ty aw Al 2 15
F3854%(1.000kg) HdE| % 10 3 18K BHE (4 = 2 16
FI#2#% (1.000kg) HiB| % 28 26 |BIF EBEFE [ ¥ v Tt 1 17
F3854%(1.000kg) HdE| % 26 4 |BEE B O |hvr 1Y 7/ =h 2 18
FI#83% (1.000kg) HE| % 64 36 2R E b5 33 I I 2 19
F#4#2(1.000ke) S 100 - 15 [&3F (3BD [ 1/ mE D 1 20
F#24% (1.000kg) HE| % 225 13 EA KH |74 4% ST 2 21
F#4% (1.000kg) HE| % 28 32 BT HE |9 19t TRH 1 22
4% (1.000kg) HE| % 225 15 |TEE HMFD (347 )t SHET 2 23
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